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EXAM 2 TM&th 120

NAME: Wi

. [8] TRUE/FALSE: Circle T in each of the following cases if the statement is always
true. Otherwise, circle F.
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Show your work for the following problems. The correct answer with no
supporting work will receive NO credit.

2. [4] (mini-quiz) Let ¢ be a non-zero real number, solve for r and simplify given
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3. Let f be the function defined by:

. 2 < =2
f@ =1
—logg(z+2) —2<x<3

(a) [4] (§4.2 #41) Graph f.
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(b) [1] (§42 #53) What is
the range of f7
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5. Find all z that satisfy the following:
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8. Let points A and B have the coordinates (2,2) and (=3, —3), respectively.
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(a) [2] (§4.5 #39) France passed a law limiting iPods and other MP3 players to

a maximum possible volume of 100 decibels.
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where Iy = 10712 watts per square meter (W/m?).

Find the maximum intensity (in
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: many more times intense than normal conversation is the sound an iPod operating
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A\W%ﬁ;%kmi A ? ¢ at the French maximum of 100 decibels?
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10. [5] Choose ONE of the following. Clearly identify which of the two you are answering

“*f}ff"v&}f

and what work you want to be considered for credit.

(a) (WebHW11 #7) The University of Washington has been raising its tuition rates
a fixed percentage each year for the past 4 years. The ‘07 to ‘08 school year had
a tuition of approximately $6000. Last year (‘10 to ‘11 school year) the tuition
was approximately $8,700.

i. What percentage rate is the University of Washington raising its tuition every
year?

ii. If the University of Washington continues increasing tuition rates at the above
fixed percentage, when will the cost of tuition exceed $100,0007

(b) (Word Problem Wks #3) You took out a ten-year subsidized loan each of the four
years you attended college to pay for tuition, books, and miscellaneous academic
fees. Below is a table of the loans taken and their respective effective annual
interest rates (AIR):

loan (8) 7,500 | 8,000 | 9,000 | 10,000

AIR (%) 351 | 4.22 1 501 | 6.31
After graduation you are given the option of consolidating (that is take out one
loan to pay off all the balances on your current loans). Assume all loans are
continuously compounded once interest start accruing. You do not have a job
lined up yet so you doubt you will be able be to make any payments for the three
years, what rate would you need to consolidate your loans at to be in a better
position three years from now?

% Uwi:f,zw& . WHW”AWQ}:::* m%\’;h@ @%“gﬁéﬁ Okg’\\ﬂ; f‘;} 9;/;*»“} - %%Q ged }*e’"\
® G Qﬂi@fi Lo %ﬁg ("% GAD g 6 SRS AN {W“ WSS
bloR-o8 Vet @
o "%ﬁ o acd) \.g,si Lo
5 « %Y eﬁ&@ S gﬂb R
%{\ L?m 3 e
C . e S
wo ¥ r ) Sk
o § oot (3, 8100) o o tpg S Ta b soh
65:* < ix\ o \ o) Ged £ 90 g
e 4 hud ;&&Q f«-}w&gg s Tz Rhag i
?i,.J Ty { ¥, z:; {0 m Q ;ff N \DQ%:)%% [ﬂg A @
K | A 2, .
o ¢ é_\ VAR \ oI (L3t jg Wbﬁ
ii}“{ 1 e o o\ i f:z
Qﬁ‘;}“ "w{\’ (aQ i 3"% ! E A . ek |
‘ oo (\\&}Q z\i,w\c\m/ ..Q’r\(* 33) \Q%{‘
Q/(’\&% e\ PR A Rverk | Nt @,ﬁ ) B Q
a4 % e ’QC\\ %’(’ﬁt ‘S L«»\\'}’;fﬂ*a {, e wwf»«':;-’%: 8 s U 3

E;}

. [P e

YD Mok “OI;V L \f’"‘é;'-\ Y

Ayaey

= -



Y;} ig T é\gf“;—%' £ g“**zf}ai“"i})?? SN
Nt T
Ei=l=gle) x

ey
V2 \saey

d;ﬁfé%éi%‘?éag\

\Q T %?&%ﬁé\%@}ﬁw a 4%&‘% N gi %‘JM&J’% %ig
7o s Qoo <G00y YA, 5 34500 Q

}i\b é‘w&iﬁa %‘%‘;@}(’%ﬁg w‘g;vgw‘*g‘% f’i‘%ﬂ\@w \\t:) O, "5" &}‘& e é} % M
LA i""@&éﬁ o, Cevfe O fay %M%




